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Expanded Form

Write each number below using expanded form.

A. 703,599

B. 349,652

C. 425.83

D. 69.582

E. 2094.701

F. How does the value of the digit 5 change in the numbers in
Questions A–D.

Which Coin Is It

A penny weighs 2.5 grams A nickel weighs 5 grams

A dime weighs 2.268 grams A quarter weighs 5.67 grams

Ming has 12 coins. The total weight of all the coins is 38.144 grams. 
He has 2 different types of coins. Four of the 12 coins are nickels. 
What is the other coin? Show or tell how you solved this.
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